
Tên: 　　　　　　　 Ngày tháng: 　　　　　　 Điểm: 　　　

Tính nhân tử của đa thức khối

x + 10x + 23x + 143 2 30x − 179x − 48x + 2523 2

18x − 51x − 175x − 1003 2 x + 7x − 5x + 243 2

49x + 392x − 36x − 2883 2 8x − 64x2

x + 9x + 24x + 203 2 x + 5x − 34x − 803 2

x + 3x + 4x + 323 2 7x + 49x2
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Tên: 　　　　　　　 Ngày tháng: 　　　　　　 Điểm: 　　　

Tính nhân tử của đa thức khối

x + 10x + 23x + 143 2

(x + 7)(x + 1)(x + 2)

30x − 179x − 48x + 2523 2

(5x + 6)(x − 6)(6x − 7)

18x − 51x − 175x − 1003 2

(3x + 4)(x − 5)(6x + 5)

x + 7x − 5x + 243 2

(x + 8)(x − x + 3)2

49x + 392x − 36x − 2883 2

(7x + 6)(x + 8)(7x − 6)

8x − 64x2

8x(x − 8)

x + 9x + 24x + 203 2

(x + 2)(x + 2)(x + 5)

x + 5x − 34x − 803 2

(x − 5)(x + 2)(x + 8)

x + 3x + 4x + 323 2

(x + 4)(x − x + 8)2

7x + 49x2

7x(x + 7)
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